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Let

x0 is initial displacement.

x is displacement.

v0 is initial velocity.

v is final velocity.

a is uniform acceleration.

t is time.

So
a =

dv

dt
i.e. v = at + v0

v = at + v0 ⇐⇒ dx

dt
= at + v0 i.e. x =

1
2
at2 + v0t + x0

v2 − v2
0 = (v − v0)(v + v0)

= at× ((at + v0) + v0)

= 2a

(
1
2
at2 + v0t

)

= 2a(x− x0)

Hence we get following




v = at + v0

x = 1
2at2 + v0t + x0

v2 − v2
0 = 2a(x− x0)
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